Mathematics (Sth, Gujranwala| Group- Il |
| Board, 2015 | '

Subjective ' Marks = 60

Time:
210 hours

Note: Section | i3 compulsory Attempt any
~ three questions from Section Il and

questnon no. 9 1S comulsory

E Wnte short answers to any Six

questions: - (2x6=12)
' ﬂ What is meant by ad|ornt of 3 matrix? Give
example. '

[ Find the product

[2° ]

) E Simo.hfyr&'jTﬁx‘*ys‘ln osumnles form

T EXplai the. concept of base and exponent
VY " withanexample, .

. [ What is the difference between common

: ogarithm and natural logarithm?

ind the value of x if log x = 0.0044.

Define polynom|a| expression.

actonzex +x-132

fx=2-y3 then’

f|nd the value ef |

X

ﬂ Write short answers to any Six
queshons . - (2x6=12)
-- Define highest common factor (HGF
N g Solve for x, |3x - 5| = 4, '
Find solution st~
| X+5:6
S L ¥ |
E Define cartesian plane. ", -
Verify whether point (2, 3) lies on ling 2x - y
t1=0ornot. | |
m Find the distance between the pomts A (9 |
2),B(7,2)

i ﬁDeﬂne equilateral tnangle |
It one angle of a right triangle is 30°, what is

ts hypo tenuse? .
[ 1 one angle of || gram is 130°, what is the
sum of other angles? .

n Write short answers to any  Six
questions: (2x6 12)

Define median of a triangle., »
-Ind area of the glven ﬂgure

L ;

LT 1]
...._.......-—-—-:-—-"""

i | 6em £y
m Construct a AABC, In which mxy =6.1¢m,

myz =76 cm and m/x =90
fal+b°- hen what kind of triangle it

<

ﬂ |nd anknown  in given f'gure. '

- 4em|

Jcm

Define acute-angled triangle.

Define ratio. |
What is meant by right blsec or of a line

segment? .
B 3cm, 6 cm and 9 Cm are not lengths of

nang\e Why?

(Each question = 8 marks, and each part = 4

marks) - o
ﬂ (a) Solve the following equations by using
" matrix inverse method. 4x-2y = 8; 3x+y = - 4
(b) Prove that L

 (a) Use Iog tables ofmd the value of

(B

(b) If 3x 4 4y 11 and xy = ’2, then find the
~ valué oft 27x +64y

ﬂ--a) Factorize x° -18x° + 108x - 216
o 'b)Snanlyto the lowest form -

3 8 (46448
X 4 X*-2x+1 -
1 (a) Find the solution set of [Bx - 3| = |4x + 5|
Check it for extraneous roots also.
(b)Consruc a trangle ABC. Draw the
bisectors of its angles and verify ‘their
concurrency. mAB = 3.6cm, mBC = 4.2em
andm/B =75° i
The bisector of the angles of a triangle are
coneurrent.

OR

~ Parallelograms on the same base and
between the same paralel lines (or of the
 same altitude) are equal in area. -




